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Question Id : 9209066780 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & YR IR Uyl & IR difore

ffie, &or 2R H I9! Y81 Sl -
TEH! g3 TR0 81 3141 $9 a1 uga,
e 89 & A9 4 77 of A

3R 31 ¥ &1 diefi 1 g8 Ueie
1 offel & gua o@ @S 1d §,
7 A1e IR ues, ggd! ol 8|
ded 3! 8T a@dn 4R 4R

s gl & @g W T gnfEal
g W T T s HEHdl 9<id
dcl bl TS g @1, 3T § a8l
3R TERT AP &S H <2l BT

B U A B W B

H afarep ¥ 1 49 HY dedl o

Sub questions

Question Number : 1 Question Id : 9209066781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 frae div 9 97

(1) SMMHE 2) UHF
(3) dF 4) HI &
Options :

92090626801. 1
92090626802. 2
92090626803. 3
92090626804. 4

Question Number : 2 Question Id : 9209066782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

H 39! &e db @dl g

(1) AR 2) AW
(3) &UIWR @) TaMH
Options :

92090626805. 1
92090626806. 2
92090626807. 3
92090626808. 4

Question Number : 3 Question Id : 9209066783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y I B yded 7d 9 el 87

(1) &S Ol (2) BIe e
(3) & ae (4) Hewre ardf
Options :

92090626809. 1
92090626810. 2
92090626811. 3
92090626812. 4

Question Number : 4 Question Id : 9209066784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE $U IR yed dgdl ol 67

(1) WIW 2) ARW
3 TWW 4) IRW
Options :

92090626813. 1
92090626814. 2
92090626815. 3
92090626816. 4



Question Number : 5 Question Id : 9209066785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSl 9 vl I dg 1 Mt 82

(1) HUsgdai | (2) HATA
(3) SFARFG Ui | 4) BT |
Options :

92090626817. 1
92090626818. 2
92090626819. 3
92090626820. 4

Question Id : 9209066780 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

e & YR W sl & Ir difore

ffeie, eor R & Gp! YT Sl -
TEH1 43 IR0 81 34141 $9 fa ued,
a1 & AT 4 A7 o

3R I & 91 Nedf BT g uered
o offdl & v s wdt d 9,
= ¢ TR Ued, 9gdl ot ¢

ded 3! 81 S@dn 4R dR
AT Ol § e W) T nfsal
g R T T FE HEHel 941d

9d &el TS g @1, S dgd
3R UERT &R TS 1 el Bl
WW W T Fe FW B

# 3fdTep T8 71 49 $ TEdl 8

Sub questions

Question Number : 1 Question Id : 9209066781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A4 fras dia 91 97

(1) WS 2) UHE
(3) TNF @4) HR &
Options :

92090626801. 1
92090626802. 2
92090626803. 3
92090626804. 4

Question Number : 2 Question Id : 9209066782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

# 3! e ab @dl IEI?

(1 AR 2) IdWR
(3) &UIWR @) YdH
Options :

92090626805. 1
92090626806. 2
92090626807. 3
92090626808. 4

Question Number : 3 Question Id : 9209066783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y e &1 gee 7d 9 el 87

(1) & uref (2) Ble gl
(3) & Ui (4) Head gref
Options :

92090626809. 1
92090626810. 2
92090626811. 3
92090626812. 4



Question Number : 4 Question Id : 9209066784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T2 FY W UeH dadl odl 82

(1) WIWR 2) ARW
3) W 4) I W
Options :

92090626813. 1
92090626814. 2
92090626815. 3
92090626816. 4

Question Number : 5 Question Id : 9209066785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol 9 Ui & dg W TR 2

(1) Sffs i | (2) FATAY
(3) SARAd i | 4) BIUAi g
Options :

92090626817. 1
92090626818. 2
92090626819. 3
92090626820. 4

Sub-Section Number : 2
Sub-Section Id : 920906217
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209066786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BY WY T 21 T2

(1) g g3 (2) HEHW F51d
3) UYdg<d 4) JHBIA <1
Options :

92090626821. 1
92090626822. 2
92090626823. 3
92090626824. 4

Question Number : 6 Question Id : 9209066786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B HY 91 1 TR

(1) 9%he d=<id (2) AEHd g<id
3) UYdg<Q 4) JHBIA F<I1d
Options :

92090626821. 1
92090626822. 2
92090626823. 3
92090626824. 4

Question Number : 7 Question Id : 9209066787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gifayl

14 fau 7 fasedi # 9 el SR &1 994 Sifou
(1) SadA3RB

2) HEAC3HRD

(3) FAADSMRE
(4) &dd B3R D

m

Options :

92090626825. 1
92090626826. 2
92090626827. 3
92090626828. 4

Question Number : 7 Question Id : 9209066787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gifayl

2 fau v fasedi 9 9l IR &1 994 Hiforg
(1) HadARB

2) HEAC3HRD

(3) HAADSIRE
(4) &dd B3R D

m

Options :

92090626825. 1
92090626826. 2
92090626827. 3
92090626828. 4

Question Number : 8 Question Id : 9209066788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiied & o9 91 a1 = 82

A.  dgl 3] A HINE B

B. 8l 3% AN HIGE |

C. g8l 3Hd al Ai9g 3|

D. gl @I 3FHT HIE g

=i fou U fashedl # 9 Tl IR &1 99 Hifele -

A
@ B
@ C
4 D

Options :



92090626829. 1
92090626830. 2
92090626831. 3
92090626832. 4

Question Number : 8 Question Id : 9209066788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiied & o9 91 a1 = 82

A. Tgl S A AN g

B. &l 3% Ar HIGE |

C. dgl 3fHd ali Ai9g 3|

D. gl a 3F®I ANE g

A9 fou U fasked # 9 Wl IR &1 9 HIfeL -

B A
(2) B
-
4 D
Options :

92090626829. 1
92090626830. 2
92090626831. 3
92090626832. 4

Question Number : 9 Question Id : 9209066789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 1Y G 11 B A S

G-I Tt i
PIE AP o
(A) BR (1) wEsE
@) 3 () ey
(€) & () TReg
(D) D (V) e

12 fau v fasedi © 9§ el IR &1 994 ST

(1) (A)-(l), (B)-(1V), (©O-(l), (D)-(1)
(2) (A=), (B)-(11), (C)-(11), (D)-(1)
(3)  (A)-(), (B)-(IN, (C)-(n), (D)-(IV)
(4)  (A)-(l), (B)-(1), (C)-(I), (D)-(IV)

Options :

92090626833. 1
92090626834. 2
92090626835. 3
92090626836. 4

Question Number : 9 Question Id : 9209066789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 1Y G 11 B A S

G-I Tt i
PIE AP o
(A) BR (1) wEsE
@) 3 () ey
(€) & () TReg
(D) D (V) e

12 fau v fasedi © 9§ el IR &1 994 ST

(1) (A)-(n), (B)-(1v), (-, (D)-(1)
(2)  (A)-(V), (B)-(), (C)-(I1), (D)-(I)
(3)  (A)-(). (B)-(1), (©)-(l), (D)-(IV)
4)  (A)-(), (B)-(1), (C)-(I), (D)-(IV)

Options :

92090626833. 1
92090626834. 2
92090626835. 3
92090626836. 4

Question Number : 10 Question Id : 9209066790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR B ASYSY Ped o dred | fagmu g

(1) =g (2) wegey
3) @ @ B
Options :

92090626837. 1
92090626838. 2
92090626839. 3
92090626840. 4

Question Number : 10 Question Id : 9209066790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR ! ASYSY Ped o dred | fagmu g

(1) o (2) WEYsY
3) 4 B
Options :

92090626837. 1
92090626838. 2
92090626839. 3
92090626840. 4

Question Number : 11 Question Id : 9209066791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR sarel 91 fAaw @t g feedft fd W 15% arftfe sore @t v @ 3 avf A 7 10,350 =
e 81 e @1 18 iR Jra i)

(1) T 22,800 (2) ¥ 23,000
(3) T 24,000 (4) T 24,500
Options :

92090626841. 1
92090626842. 2
92090626843. 3
92090626844. 4

Question Number : 11 Question Id : 9209066791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR &6 W 3w &t 73 et afy ov 15% aiftie soe @t e 3 W A 7 10,350 =AW
3fran g1 e &1 18 af gra Fifsn

(1) T 22,800 (2) 23,000
(3) T 24,000 (4) ¥ 24,500
Options :

92090626841. 1
92090626842. 2
92090626843. 3
92090626844. 4



Question Number : 12 Question Id : 9209066792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm T3 9161 4T 1 U 319 71141, 80 cm T dTd U §aT6R U H STar 741 gfe o
iR &9 Y U F 4RT 8 aUT SHH STl 41 Ml I o¥e S6 71 8, ol ofd-%R a1 Sl
HRICIE

(1) 25 cm (2) 22.5cm
(3) 22 cm 4 21.8cm
Options :

92090626845. 1
92090626846. 2
92090626847. 3
92090626848. 4

Question Number : 12 Question Id : 9209066792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm g1 91aT YTd &1 UH 319 7dl, 80 cm o4 dIdl Udh deHIbR UE | STar 71411 afd uF
HifRI® T I T 8 W 8 a1 9 STal 1 7ial Ol a8 §d 741 €, ol Sd-%R fdha-T Gl
EIRISIF

(1) 25 cm (2) 225cm
(3) 22 cm 4 21.8cm
Options :

92090626845. 1
92090626846. 2
92090626847. 3
92090626848. 4

Question Number : 13 Question Id : 9209066793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UL A T 42,000 Y b U AUR AR fHa1| 31 AgH 1€ 2 35,000 HT I b
1 39S 1Y TS TS| 9 HElHT & ofd T Fd @I 31,570 YT & H {1 ST 4R 2 ) &

(1) 12,400 (2) 12,628
3) 12,825 4) 12,980



Options :

92090626849. 1
92090626850. 2
92090626851. 3
92090626852. 4

Question Number : 13 Question Id : 9209066793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A 2 42,000 W HXb UH AR R™ fba11 &1 | 918 2 35,000 BT I Hb
31 39S 1Y TS TS| SH HEHI & o T Fd A 231,570 YT AH H 1 H1HAT R ) &

(1 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090626849. 1
92090626850. 2
92090626851. 3
92090626852. 4

Question Number : 14 Question Id : 9209066794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

107 +7° +243 = x* +5 H x &I HF FId Bifolw

(1) 21 2y 22
(3) 23 (4) 24
Options :

92090626853. 1
92090626854. 2
92090626855. 3
92090626856. 4

Question Number : 14 Question Id : 9209066794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



102 +7° +243 = x> +5 H x B HAM FId Hifelw

(y 2 (2) 22
(3) 23 4) 24
Options :

92090626853. 1
92090626854. 2
92090626855. 3
92090626856. 4

Question Number : 15 Question Id : 9209066795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF wfad Ufdfed 9 He IR & gY 70 & # 1200 km 1 g 99 Tl ¢ 1 TS a8 ufafeA
10 ©¢ 3R &Y YT 39 Ugd dreil 7id 9 1% T 7] ¥ 9, o1 98 840 km 1 gl fba
&= & T s

(1 39 (2) 33
3 35 (4) 37
Options :

92090626857. 1
92090626858. 2
92090626859. 3
92090626860. 4

Question Number : 15 Question Id : 9209066795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF fad Ulafed 9 €2 iR @Rd gY 70 &7 # 1200 km &1 g 99 FXal €1 A g ufafeA
10 ©¢ 3R HY YT 39 Ugd diei 7fd 9 1% T 7] ¥ 9, o1 98 840 km 1 gl fba
fea 7 ag sy

(1) 39 (2) 33
3y 35 4y 37

Options :



92090626857. 1
92090626858. 2
92090626859. 3
92090626860. 4

Question Number : 16 Question Id : 9209066796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud Hg GOY $I 3R FIRT A gU AT A Sl TUS1 Thaldl Wis B0 G & foar &1 far g1
39 goN &1 3 A 1 frgan g2

(1) <al @) foa
(3) aidd (4) weI-gA-l
Options :

92090626861. 1
92090626862. 2
92090626863. 3
92090626864. 4

Question Number : 16 Question Id : 9209066796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF Hg GO $1 3R IIRT HXd g0 AT A FHeT 39H1 Uhalal 1S B8 Tt & foar w1 A 21
39 7oy &1 33 I F1 fegar &2

(1) <al @) foa
(3) sidd (4) weR-g4-al
Options :

92090626861. 1
92090626862. 2
92090626863. 3
92090626864. 4

Question Number : 17 Question Id : 9209066797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ued Hpfd &1 o/d U O & 4 W W81 oidl ¢ a4 3 favg aret waw 1 fqufa e & fram
fog RE &

o o

= o |o o
o 4] =]
=] o | L)
[+ ]
o
o 4]
(2 () 4
(3) 5 4 6
Options :

92090626865. 1
92090626866. 2
92090626867. 3
92090626868. 4

Question Number : 17 Question Id : 9209066797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ued Hpfd &1 o/d U O & 4 W W81 oidl ¢ a4 3 favg aret waw 1 fqufa e & fram
fog RE &

o o

(n 2 2) 4
3} 5 4 6

Options :

92090626865. 1
92090626866. 2
92090626867. 3
92090626868. 4

Question Number : 18 Question Id : 9209066798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

337 g & fere Ol fasey &1 9g- & -

A70:349::478:7

(1 470 (2) 487

(3) 471 4) 474
Options :

92090626869. 1
92090626870. 2
92090626871. 3
92090626872. 4



Question Number : 18 Question Id : 9209066798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3131 ug & fore uel faweq &1 907 &Y -
470:349::478:7

(1) 470 (2) 487
(3) 471 (4) 474
Options :

92090626869. 1
92090626870. 2
92090626871. 3
92090626872. 4

Question Number : 19 Question Id : 9209066799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYF BT Y Ud YaURN SRT Fgifdsd usi &1 3w d |

Y gg die-d ¢ [ o= & ¥pa 1 5 a4 &1 31g T US|
UdYRON  |: 39 g H = A & Iugdd WR W Ugd 9% gidl & 3R e & fau
GRIEESGIN

Il: 694 $I Y F 918 T =1 &1 GG ] Bl

(1)  Paa gdyron | iR 8

(2) Paa qdyron | 1 siafifed 8

(3) GHIAYHSTH T Hafiied s
(4) AdARAE I AR 8

Options :

92090626873. 1
92090626874. 2
92090626875. 3
92090626876. 4

Question Number : 19 Question Id : 9209066799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY D1 U Ud YR SURT FHgifdrd welf &1 3w &d |

U gg 9ie-1 ¢ [ 9= &1 Wpa 1 5 94 31 oy T U1 9|
TdYROT  |: 39 oMY H g1 AP & Iuged wWR W Ugd @ aidl ¢ iR drEd & fae
JOR Bl B

Il: 694 P HG F dI8 Tod =1 B Gl gl Bl

(1)  &ad gduron | sidfifed g

(2) Pad gduron | 11 fafifed g

3) CFIHAPETH O faHRdE
4) AdiSRAE I iaFfea e

Options :

92090626873. 1
92090626874. 2
92090626875. 3
92090626876. 4

Question Number : 20 Question Id : 9209066800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfdar 10 faardier IR @ 3R, 981 ¥ 6 faidier fém #t ok, aaynd 98 3 ol e
@1 3R Fad! g1 3 R fawg & deuf o ag fara-it gt wr aiR favw femm @2

() 10 & Iuv ufam ) 6 o gfémr afgm
3) 5 fos.. férmr afsm @ sfEd Tm@Re
Options :

92090626877. 1
92090626878. 2
92090626879. 3
92090626880. 4

Question Number : 20 Question Id : 9209066800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fadr 10 feetiey I &t 3R, 981 U 6 fdhaiiex glém &t ok, aayrq 9g 3 feandley e
&I AR Fardhl g1 30 SRS fawg & Hay # a8 fFa-it gt wr ik forw feam & @2

() 10 f& e Iuv ufam ) 6 & afém afgm
3) 5 fos.af. gfémr afsm @ sfFHImEe
Options :

92090626877. 1
92090626878. 2
92090626879. 3
92090626880. 4

Question Number : 21 Question Id : 9209066801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y gl 1 @1 T Sl

- gt -
(Aa) Sfiefeay () TR U
(B) SMISICIUG] () vl & Heifera sfrefe wma
(€) Sffdfedear (Y @fEan &1 st
(D) SHiFeaTars (V) &d &1 g SR fagH
e fau U fasedi § | 9El IR &1 99 BT
(1) (A)-(), (B)-(1V), (O)-(1), (D)-(II)
(2)  (A)-(I), (B)-(1v), (C)-(1), (D)-(11)
(3)  (A)-(IV), (B)-(I1), (C)-(1), (D)-(III)
(4) (A1), (B)-(IV), (C)-(l11), (D)-(1)
Options :

92090626881. 1
92090626882. 2
92090626883. 3
92090626884. 4

Question Number : 21 Question Id : 9209066801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & Ty gt 1 1 HeH Sifor:

gdl-| Tt i
(A) ST () FIEfd IS
(B) SiTSICIuIG! () ol | Heiftra sfrafe wma
(€) HaRUFHeER (SR (@FEN) o1 ST
(D) SHfEHTaren (IV) &d &1 g 3R fagm
419 fau U fadhedl © 9 9d IR &1 9G4 BT
(1) (A)-(), (B)-(IV), (C)-(1), (D)-(l1)
(2)  (A)-(I), (B)-(1v), (C)-(1), (D)-(11)
(3) (A)-(IV), (B)-(l1), (C)-(1), (D)-(li1)
(4)  (A)-(I), (B)-(IV), (Q)-(ln), (D)-(1)

Options :

92090626881. 1
92090626882. 2
92090626883. 3
92090626884. 4

Question Number : 22 Question Id : 9209066802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& U gEgIPIa- Ud Ul St (LPG) & T U §?

(1)  &ad fAaga 2) s sda
(3) WIUA 3R &< (4) U 3R &geA
Options :

92090626885. 1
92090626886. 2
92090626887. 3
92090626888. 4

Question Number : 22 Question Id : 9209066802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



®H U gIEgIPbIa- U Ul Sft (LPG) & T U &2

(1)  &ad fAgF (2) T iR 3dA
(3) I 3R A (4) W 3R =ged
Options :

92090626885. 1
92090626886. 2
92090626887. 3
92090626888. 4

Question Number : 23 Question Id : 9209066803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHECEE
A e ® ya &4 dran uyH Afdd tsdE g1Ee 8l
B. HgHI U HIHd HI WA dTal Uy e% 4 UuU
C.  3f=Ier ® Sarer UyH HRdY Jeh i
D. WYH Uar # Hire Sfikfaex # S aren yuw == 21
- few e fwedt & @ 9t S &1 99 Fifore

(1) &ad A3MRB

(2) ®ad A B3RC

(3) &ad B3HRD

(4) F9d BIHRC
Options :

92090626889. 1
92090626890. 2
92090626891. 3
92090626892. 4

Question Number : 23 Question Id : 9209066803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T HU T -

A Sfdfe ® yaw HA drean uyH Afdd usdE ®1Ee 8l
B. dgHI TR HFd &I Yo aral UYH &% JUH.U

€. 3f=INer H SErer UYH HRdY I i

D. WuH Uard # Te Sfikfaex # o aren gyH S 21
A few e R § & 9t I &1 99 Fifon

(1) &ad A3fRB

(2) $dd A B3RC

(3) ad B3HRD

(4) ¥9d B3R C
Options :

92090626889. 1
92090626890. 2
92090626891. 3
92090626892. 4

Question Number : 24 Question Id : 9209066804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I 91 d¢ J&Td: IMHd ey H fidels 391 82

(1) Tojdg (2) WHdg
(3) 3yddg 4) B
Options :

92090626893. 1
92090626894. 2
92090626895. 3
92090626896. 4

Question Number : 24 Question Id : 9209066804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 91 d¢ J&Td: AMHA ey H fidreis 3971 82

(1) T9jdg (2) WG
3) Suddg @) FIC
Options :

92090626893. 1
92090626894. 2
92090626895. 3
92090626896. 4

Question Number : 25 Question Id : 9209066805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R d sy Ru U §:
Y| ;. HRdE WaUE H UHd AMREedr &1 [d9r S dfaur § sifter G i gl

U Il :  HRAY AU & 3= 51 A & ded Jayd daor’ WiF & FfayE ¥ sifier
a1 B

IR HYA & 3fTdied H, i< AU 77U fabeul # § a8 Iuga I &1 99 Difelu

(1) YR IEH TR
(2) YA SR I ESH Ted @
(3) Y| TS B, Al YA 11 Ted &
(4) YA TTAd 8, Afchd HYF 11 96l §

Options :

92090626897. 1
92090626898. 2
92090626899. 3
92090626900. 4

Question Number : 25 Question Id : 9209066805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 gl FyA Rumu &
FYT| :  HRAW Ty § Ted Amiiear &1 foar fafew dfaum O sifter far m g

U wﬁgﬂmaﬂa@?ma%aﬁaqﬁ%aﬁm HiY & dfauH ¥ siiffeR
o icd

SRR HY & 3fdiew H, i< AU 77U fabel 7 I a8 Iuga Ju &1 99 Difele

(1) YR ISHA TEl 8
(2)  HYFI SR I ESH T @
(3) YA | Bl g, Al HY || TTad &
(4) ®YFITAd §, Afchd HYF 11 98l ©

Options :

92090626897. 1
92090626898. 2
92090626899. 3
92090626900. 4

Part B: Plastic Arts

Section Id : 920906136
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section 1d : 920906218
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209066806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following are clay bodies?
(A) Poreelain

(B) Bentonite

{C)  White Earthenware

(D Bone China

(E) Grog

Choose the correct answer from the options given below :

(1) {A), (B) and (E) only (2) (B), (C) and (E) only
(1 (A), (B) and (C) only (4) (A), (C) and (D) only
Options :

92090626901. 1
92090626902. 2
92090626903. 3
92090626904. 4

Question Number : 26 Question Id : 9209066806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafad § @ o1H ghie s uH &2
A, I gt difeE

MR

CERSCEIS

CIEEIEC]

E. Ul forgt @

1 feu 7o faeedi § 9 9el IR &1 994 Hiferd :

(1) &dd A B3IRE
(2) &dd B,C3RE
(3) &dd A B3RC
(4) &dd A, C,D

Options :
92090626901. 1
92090626902. 2

o

L=



92090626903. 3
92090626904. 4

Question Number : 27 Question Id : 9209066807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Last T with List IT :

List I List II
(A) Kiln (I}  Clay slab
(B) Wedging (I} Baking
(C) Potter’s wheel (IITI) Throwing
(D) Rolling pin (IV) Preparation of clay

Choose the correct answer from the options given below:

(1) (A)-(T), (B)-(T1T), (C)-(IV). (D)-(IT)
(2) (A)-(IV), (B)~(III), (C)-(T). (D)-(II)
(3) (A)-(1T), (B)-(IV), (C)-(IIT}), (D)-(I)
(4) (A)-(I1L, (B)-(I), (C)-(11), (D)-{IV)

Options :

92090626905. 1
92090626906. 2
92090626907. 3
92090626908. 4

Question Number : 27 Question Id : 9209066807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & Gy g 1| 1 e Sife

- Tl -l
(A) W3l o i @t afean
(B) WHAl/UER ST () GHHI
(©) DR &I ufed (&g
(D) SEHl vy gt R &R

e fau e fasedl | 9 98t IR &1 994 S

(1
(2
(3
(4

) (A)-(1), (B)-(1), (C)-(11), (D)-(I1)
) (A)-(IV), (B)-(H), {©)-(1), (D)-(I)
) (A)-(1), (B)-(IV), (C)-(lm), (D)-(1)
) (A)-(1), (B)-(1), (C)-(1), (D)-(IV)
Options :

92090626905. 1

92090626906. 2

92090626907. 3

92090626908. 4

Question Number : 28 Question Id : 9209066808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The warm reddish colour of Red Earthernware comes from which of the following contents?

(1) Cupric Nitrate (2) Sodium Oxide
(3 Iron Oxide (4) Lead Nitrate
Options :

92090626909. 1
92090626910. 2
92090626911. 3
92090626912. 4

Question Number : 28 Question Id : 9209066808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafeiad & 4 {69 sradsq & SR TG Jervis! § 7H dred 31 1dl 87

(1) g Agee (2) Hifsgw eSS
(3)  SHERA ARZS (4) WS TB

Options :

92090626909. 1
92090626910. 2
92090626911. 3
92090626912. 4

Question Number : 29 Question Id : 9209066809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1z labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) . Wedging is the technique that helps to achieve uniform consistency of clay
and enhances its plastieity.

Reasons (R) - The continual cutting and slamming eliminate lumps, inconsistences and

air bubbles.

In the hight of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
() Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 18 correct but (R) 18 not correct
(4) (A) is not correct but (R) is correct
Options :
92090626913. 1
92090626914. 2

92090626915. 3
92090626916. 4

Question Number : 29 Question Id : 9209066809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

919 1 YA QU U § UP SiNEYT (Assertion A) & FY  H ffad & dl T IS HRUI
{Reason R}a’?F‘:[ ff;

AMBYT A :  THl/TER T §€ dh-17 ¢ forad gl 1 ThaR F7fd 9d1 g SR 3!
gereddl dgal g

HRUIR: AR e 3R Yedh- I gl & 3R & od, rdniaaral ¢k ga1 & gaqa
I 81 91 g1

SR HY & 3Mdid 7, i fdu v fadadl 7 9 9y Iugad IR &1 9949 IS

(1)  ASIRRTHI Fel 8 SR R A DI He! ARSAT &

2 ASRRIAIHEI §, Afb R A DI S TR ST ©
3) AUEE APTRIA AR

(4 AYEITEIE APTRULR

Options :

92090626913. 1
92090626914. 2
92090626915. 3
92090626916. 4

Question Number : 30 Question Id : 9209066810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Content of sand in clay enhances the of the clay.

(1) Plasticity (2) Casting utility

(3) Porosity (4) Strength
Options :

92090626917. 1
92090626918. 2
92090626919. 3
92090626920. 4

Question Number : 30 Question Id : 9209066810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fiygt 7 a1 B A @ firdt @t ggdl gl

(1) gl (2) edrd IugIfa
(3) Tyar (4) SfEq
Options :

92090626917. 1
92090626918. 2
92090626919. 3
92090626920. 4

Question Number : 31 Question Id : 9209066811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the use if Rug Mill?

(1) For storing clay (2) For preparation of glaze
(3) For preparation of elay (4) For throwing a pot
Options :

92090626921. 1
92090626922. 2
92090626923. 3
92090626924. 4

Question Number : 31 Question Id : 9209066811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRI-9&! (YITH) &1 F1 IunT 87

(1) T8 & SR & fie (2) TH® UR & & fog
3) gt aR & & forg (4) & & &uu & ferw
Options :

92090626921. 1
92090626922. 2
92090626923. 3
92090626924. 4



Question Number : 32 Question Id : 9209066812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of clay preparation for clay modeling :
(&)  Spread the clay slowly into P.O.P. pit and leave it to achieve the required state of clay.
(B)  Mix the clay with water to achieve a slurry
(C)  Wedge the clay
(D) Filter the clay slurry throw a sieve

(E)  Break down the dry clay into small pieces

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E) (2) (E), (A), (B), (D), (C}
(3)  (E) (B), (D), (A), (C) (4) (A), (E), (C), (D), (B)
Options :

92090626925. 1
92090626926. 2
92090626927. 3
92090626928. 4

Question Number : 32 Question Id : 9209066812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gRue-ufereaul/gfd e & e gRist TaR &3 & gl HH &1 gA1d Sifort|

A. g @t spfiy g3 UM & fore Mgt & TR &1 @i, gi A | hara 81 &
B. Wl url etz TRY &1

c. gl ¥ wH/a=R @

D. {dl Tl R TR B STADH BT

E.  gdl [Agl &1 B1-8I¢ sl 7 disl
19 fau o fasedi § 9 el ST &1 994 Hifoe -

(1) ABCDE
(2) E,A B D, C
(3) EEB. D AC
4 AECD,B
Options :
92090626925. 1
92090626926. 2

92090626927. 3
92090626928. 4

Question Number : 33 Question Id : 9209066813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement 1 : Grog 1s the clay that has been fired and ground up.

Statement 11 : Grog has the capacity of bearing high temperature during firing.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are ineorrect
(3 Statement I 15 true but statement 11 1s false

(4) Statement [ 15 falze but statement II 15 true

Options :
92090626929. 1
92090626930. 2



92090626931. 3
92090626932. 4

Question Number : 33 Question Id : 9209066813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERACAIE ATk LR

HYF | - THYRISE/AT a8 gl @ 58 usman 1 g SfR g T g |
HY || - UHYRIS1/AT Usdad & 99 $a1 dlIaH Jg4 i & 36! g
IR HYF & 3 |, 71 fou M 9t 7 § gt 3] 9 $ife

(1)  HYFINRNETH g

(2) @Y1 3R 1 SHI T §

(3) YT HA T, Alh YA 1l SA
(4) HUTI T E, AT HUT I AT

Options :

92090626929. 1
92090626930. 2
92090626931. 3
92090626932. 4

Question Number : 34 Question Id : 9209066814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other 13 labelled as

Reason (R) ¢

Assertion (A) :  Clay, always a mixture of minerals, 15 basically the natural result of

decomposition, usually of Igneous rocks and granite.

Reasons (R) : A mixture of clay or a mixture of clays with other ceramic materials is

referred to as a clay body.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) {A) 15 true but (R) is false

(4) {A) 15 false but (R) 18 true

Options :

92090626933. 1
92090626934. 2
92090626935. 3
92090626936. 4

Question Number : 34 Question Id : 9209066814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hia 3 YA 3T U § UH ANEYT (Assertion A) & TY  H if@d & @ I ITH HRUI
(Reason R) @ &0 T

AUPYT A - gRadr AW & SRS 1 e Byo g 8 Haa: omim gl 8k
YIZe/HUNH & fqge &1 Widfas uikomd gl 81

PHRUIR : ot givet a1 giawrel 1 3= Jg His AHEE! & WY & {0 $1 gioer-
TIdR (& dlel) PHel Sl 82

JURIR HYF & 3dld H, 711 fGu 0 fadwedl § 9 T9d Iuged I &1 999 Sifee

(1)  ASIRREHI Hal § SR R A DI Yol ARSAT §

2  ASRRIHE G §, AfbA R A B HS AT G &
3) AYE dfbIRGS Ae @

(4) AWEITEIE APIR LR

Options :



92090626933. 1
92090626934. 2
92090626935. 3
92090626936. 4

Question Number : 35 Question Id : 9209066815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One can slow down the setting speed of plaster of paris by adding
(A) Citric acid
(B) Gene
(C) Hot water

(D Cold water

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only (2) (B), (C) and (D) only
(3) (C), (D) and (A) only (4) (D), (A) and (B) only
Options :

92090626937. 1
92090626938. 2
92090626939. 3
92090626940. 4

Question Number : 35 Question Id : 9209066815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WREY A6 AR & S &1 Uishdn &1 g a¥g e i fa s asar g -

A EEfed uEs
B. W
c. THuF
D. dSIuFl
1= feu U fawedi § 9 98l I &1 904 Hiferg -
(1) @&dd A B,C
(2) &dd A CE
(3) @&dd CD,E
(4) &dd A C,D
Options :

92090626937. 1
92090626938. 2
92090626939. 3
92090626940. 4

Question Number : 36 Question Id : 9209066816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the correct sequence of ereating a sculpture in plaster using direct process?
(A) Cover the whole armature with jute sacks, socked in plaster,
(B) Create an armature.
(C) Use scrapping tools to get desired form
(D) Apply shellac coat to seal the plaster

(E) Add plaster with fingers and modeling tools to achieve the form

Choose the correct answer from the options given below :

(1y (&), (C). (E), (B), (D) (2)  (B), (A), (E), (C), (D)
(3 (C), (B), (A). (E), (D) (4) (D), (E), (B), (A). (C)

Options :

92090626941. 1
92090626942 2
92090626943. 3



92090626944. 4

Question Number : 36 Question Id : 9209066816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el wiehan o1 UaIN $¥d gU Uerar I Afd fRIeq 1TgA &1 gl HH 1 gRI?
A, Ul g Bl YawR § g4 O & aRi 9 g ol

B. Ud eIl

C. BIa/GE ad e’ &1 Hag I SUfad T W S

D. Ud&R & dc H & ot @ &1 yudt &l Wd Iern

E onfiy S uurd &3 & o Jufedi ok gid-T1ea & SRl ¥ UarkR FgHl
12 fau M fasedl # ¥ TSl IR H1 90 Hiforg -

(1) dd A CEBD
(2) &dd B,AECD
(3) @&dd C,B A ED
(4) &dd D,E B A C

Options :

92090626941. 1
92090626942. 2
92090626943. 3
92090626944. 4

Question Number : 37 Question Id : 9209066817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Portland cement is made by heating and grounding

(1) Calcium Carbide (2) Calecium Aluminium Silicate
(3 Caleium Sulphate (4) Calcium Carbonte
Options :

92090626945. 1
92090626946. 2
92090626947. 3
92090626948. 4



Question Number : 37 Question Id : 9209066817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Urdeie WA= fba die &1 T B SiR 4 | ST Ol 82

(1)  Hicirgd Sralzs (2) Hickran vegffam Rifede
(3) PickH gethe (4) BicRgH FEFT
Options :

92090626945. 1
92090626946. 2
92090626947. 3
92090626948. 4

Question Number : 38 Question Id : 9209066818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plaster of paris 18 made by heating gypsum at

(1} 150°F (2) 350°F
(3)y  250°F (4) 750°F
Options :

92090626949. 1
92090626950. 2
92090626951. 3
92090626952. 4

Question Number : 38 Question Id : 9209066818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forean &1 fog argwTE R T S WRe 36 UTE ST WId] 87

(1 1500 % e REE (2) 350° 'ZF;IFEEE
(3) 250° BIRISC (4) 750° 'IIT;IQQEEE
Options :

92090626949. 1
92090626950. 2
92090626951. 3



92090626952. 4

Question Number : 39 Question Id : 9209066819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The setting speed of plaster of paris can be accelerated by adding

(1) Acidie acmd 2) Cold water
(3 Salt 4y Glue
Options :

92090626953. 1
92090626954. 2
92090626955. 3
92090626956. 4

Question Number : 39 Question Id : 9209066819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRER 3110 U & o= &1 ufchan &1 g firemes o fdan s webdr 22

(1) uRiee ufys 2) SSTUF
(3) WD (4) W9
Options :

92090626953. 1
92090626954. 2
92090626955. 3
92090626956. 4

Question Number : 40 Question Id : 9209066820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1:

Lisat [ List I1
(A) Ciment fondu (I} Grey cement
(B} Plaster of paris (I} White cement
(Y Portland cement (IIT} Hydrated caleium sulphate
(D) Gypsum (IV) Caleium sulphate hemi hydrate

Choose the correct answer from the options given below:

(1) (A)(ID), (B)-(I), (C)-(I1L), (D)-(IV)
(2 Ay (B)-(IV), (C)-(1I), (D)-(II)
3 (A-IV), (B)-(ID), (C)-(I), (D)-(I1I)
(4} (A)-(IID), (B)-(II), (C)-(IV), (D)-(1)

Options :

92090626957. 1
92090626958. 2
92090626959. 3
92090626960. 4

Question Number : 40 Question Id : 9209066820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | b |1y Gl 1| b1 T Hifeg

- Tt -
(A) HHCBRg 1y HRIHEe
(8) WY 36 Uy () g HiHe
€ Udds dine () TIZSIeS Hicdrad Hethe
) fomam (V) BT Getbe e gBac
i feu U fawedl & ¥ Tel 3T &1 994 Dife
(1) (A)-(), (B)-(1), (C)-(11), (D)-(IV)
(2) (A, (B)-(IV), (Q)-(1D), (D)-(11)
(3)  (A)-(V), (B)-(IN), (C)-(1), (D)-(H)
(4) (A=), (B)-(IN), (C)-(IV), (D)-(I)
Options :

92090626957. 1
92090626958. 2



92090626959. 3
92090626960. 4

Question Number : 41 Question Id : 9209066821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choosze the plastic group to which Polvester Resin belongs to :

(1) Thermosetting Plastic group (2) Gel Polvester group
() Thermoplastic Plastic group (4) Gel Plastie group
Options :

92090626961. 1
92090626962. 2
92090626963. 3
92090626964. 4

Question Number : 41 Question Id : 9209066821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ifeeeR IoF () Fafaiea ¥ 9 e wied S5 o ST g2

(1) dU-¢ W I8 (2) id GIfeeE gug
(3) dY-gucd WIRed g (4) od @D GHg
Options :

92090626961. 1
92090626962. 2
92090626963. 3
92090626964. 4

Question Number : 42 Question Id : 9209066822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List the materials which are used with polyvester resin during the process of glass fiber
casting

(A) Marble dust
(B)  Cobalt

() Acetone

(I Catalyst

(E) French powder

Choose the correct answer from the options given below :

(1) (A), (B). (C), (D) only 2y (B), (C), (I, (E) only
(3) (A), (B), (D), (E) only (4) (C), (E), (D), (A) only

Options :

92090626965. 1
92090626966. 2
92090626967. 3
92090626968. 4

Question Number : 42 Question Id : 9209066822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁiﬂ-gﬁﬂﬁﬁﬁﬂﬂﬂﬁ@ﬂﬁfﬁf@?ﬁﬂ%ﬁmﬁaﬂ@lmmﬁwm
EIGIGE

A, HITHTER &1 g0

B. @Il

C. TUReH

D. JdR®

E. hisiE guf

1< fau e fashedt # ¥ Tel I &1 984 FifoL -
(1) @dd A B CD

(2) &dd B,C,D,E

(3) &dd A B D,E

(4) &dd C ED,A

Options :



92090626965. 1
92090626966. 2
92090626967. 3
92090626968. 4

Question Number : 43 Question Id : 9209066823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of doing fiber casting :

(A)  Owerlap the stripes of fiber glass matting and apply more resin onto the matting,
repeat the process twice.

(B} Apply releasing agent in the mould.

(C)  Join mould by applying a thick bead of resin along the slam of the cast and leave it for

rest.
(D) Apply the gel coat of polyvester resin onto the interior surface of the mould.

(E) Chap off the mould of plaster and repair where the joint is inadequate.

Choose the correct answer from the options given below :

1y  (A), (D), (B), (E), (C) (2) (D), (A), (B), (C), (E) only
3 (C), (A), (D), (B), (E) only (4) (B), (D), (A), (C), (E) only
Options :

92090626969. 1
92090626970. 2
92090626971. 3
92090626972. 4

Question Number : 43 Question Id : 9209066823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d=d-gdls ®HId GG HTH ST ! HH 31 I?

A, Pig-d<] DI 918 DI Ul B UH gW & HUR WIHI, dels W 3R s IWoF 1 Id
ST, TfshaT 1 &1 IR g3l

B. ¥ H Fulfa® HR® &1 UdF &l
C: gﬁﬂm%ﬁgﬁﬂ%ﬁﬁmﬁqmmﬁmmwmﬁﬁ%ﬁﬁﬁtmﬁw@ﬁﬁ
|

D. WP A<EA Tdg W UIfeiuee? Id &1 oel Ud T
. TWReI & Hid &I HIed e BT 3R oel oils uaied = 81 981 &1 Ad S|
12 fou e fawedi @ 9 98l Itk &1 994 Hiforg :

(1) ABDEC
(20 B,ABCE
(3) CADBE
4 B,DACE

Options :

92090626969. 1
92090626970. 2
92090626971. 3
92090626972. 4

Question Number : 44 Question Id : 9209066824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1= the second name of hardener used in glass fiber casting?

(1) Cobalt 2) Ethanol
(3) Catalyst (4) Acytone
Options :

92090626973. 1
92090626974. 2
92090626975. 3
92090626976. 4

Question Number : 44 Question Id : 9209066824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BId-adq DI eals § UG TolPRS B gul ATH T2

(1) ®dlee (2) YA
(3) JoR® (4) UREeE
Options :

92090626973. 1
92090626974. 2
92090626975. 3
92090626976. 4

Question Number : 45 Question Id : 9209066825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : In fiber easting Cobalt Napthanate 1z used as accelerator in polyester resin.

Statement 11 : In fiber easting Cobalt Napthanate 1s used as hardener for polyester resin.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement [ and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3 Statement [ 1s true but statement 1T 15 falze

(4) Statement I 15 falze but statement I1 15 true

Options :

92090626977. 1
92090626978. 2
92090626979. 3
92090626980. 4

Question Number : 45 Question Id : 9209066825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ha g1 dya R u &
HYF| - dg-eds H Dialee 9L BT TN Uiy Id § @id & &4 1 fea1 arar g

$Hﬂ|l:ﬂﬁ—%ﬁ[§ﬁﬂﬁﬁﬁfﬁ@#€ﬁmmmﬁimﬁimﬁm
EIGIE

IWIad HYA & faid H At fGu U fasedi # 9 Hel Il 994 $ifuiw

(1) SYTISRISHI T g

(2) YT SR I GHI T B

(3) Y| A g, Alh HYUA Il 3 8
(4) DY EY B, AT FUA I T B

Options :

92090626977. 1
92090626978. 2
92090626979. 3
92090626980. 4

Question Number : 46 Question Id : 9209066826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyester Resin which is used in glass fiber casting is a by product of :

(1) Acrylic 2y 0l
(3 Shellac (4) Gum tree
Options :

92090626981. 1
92090626982. 2
92090626983. 3
92090626984. 4

Question Number : 46 Question Id : 9209066826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hid-a-q ®I eals § TGN g are UifeiweR 39 e 3u-3de 87
(1)  Ulchfere (2) dd
(3) TGPl UuSl (4) Tiic 1 gaf

Options :

92090626981. 1
92090626982. 2
92090626983. 3
92090626984. 4

Question Number : 47 Question Id : 9209066827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of creating a sculptured by wood carving :

(A)  Apply polish

(B) Remove the bark from the wood log

(C) Carve out the basic form

(D) use sandpapers, fillers and rasps for finishing

(E) Carve out the details to bring out the desired form.

Choose the correct anawer from the options given below :

(1)  (E). (D), (B), (O), (&) (2) (D), (A). (B), (C), (E)
(3) (A), (C), (D), (E), (B) (4) (B), (C), (E), (D). (&)
Options :

92090626985. 1
92090626986. 2
92090626987. 3
92090626988. 4

Question Number : 47 Question Id : 9209066827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&Y I 1vH I gfd e 11g &1 ufsea § S1af & 98l 1 &1 g4 Do)
A, OIfeI T

B. Tdol & dg U BId gcHl

C. SMYRYd EY Pl Jebifold &l

D. ufvsmvor &1 gRyguiar & fome W, Rt ok X! &1 WA &l
E. onfiy ©UumE dF & e gea faaroll &1 Iaifd &

1< fau U fasmedt # 9 Tel IR 1 904 P

(1) E.D,B C A

(2) D,ABCE

(3) A,C,D,EB

(4) B.C.ED, A

Options :

92090626985. 1
92090626986. 2
92090626987. 3
92090626988. 4

Question Number : 48 Question Id : 9209066828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which tool is used for wood carving?

(1) Bull nose chisel 2y DBush hammer
(3 Claw chisel (4) Mallet
Options :

92090626989. 1
92090626990. 2
92090626991. 3
92090626992. 4

Question Number : 48 Question Id : 9209066828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PIY-Ieb 0 & foru fobw SNSIR &1 Uan g1 &2

(1) g & (2) UM
(3)  Uel/AEid o (4) HRYEWR

Options :

92090626989. 1
92090626990. 2
92090626991. 3
92090626992. 4

Question Number : 49 Question Id : 9209066829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other 1z labelled as
Reason (R) :

Aszsertion (A) : A well seasoned wood 12 the best for carving a sculpture,

Reasons (R) : The use of non-seasoned wood may result into shrinkage and possible

cracking when wood dries,
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) (A) 15 true but (R) 15 false

(4) (A) 18 false but (R) is true

Options :

92090626993. 1
92090626994. 2
92090626995. 3
92090626996. 4

Question Number : 49 Question Id : 9209066829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 21 HyA foU MU § U SHBHUA (Assertion A) F FU  H fafEdd & O T 39S BHRUI
(Reason R}%F‘I ff;
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(2) ASIRRIHI TEl € dfd- R A B UEl AT T8l &
3) AUSE AfPIRUEAE R
(4) ATSITEIE ABARTE T
Options :
92090626993. 1
92090626994 2

92090626995. 3
92090626996. 4

Question Number : 50 Question Id : 9209066830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : The wedge h as a tapered edge and i1s designed for splitting length of wood

along the grains.

Statement 11 : Wedge should not be too sharp, they part the fiber rather than cut them.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true

(2) Both Statement I and Statement II are false

(3) Statement [ 15 true but statement 11 1s false

(4) Statement [ is false but statement 11 is true
Options :

92090626997. 1
92090626998. 2
92090626999. 3
92090627000. 4



Question Number : 50 Question Id : 9209066830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyafeumUe:

®Y | - BH/TER T HAY: Udal gidl SIdl BRI Edl € SR IUP] i 39 e 1
it & fb a8 @St Bt arars B agieHl & GHFRR faHTiod &
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(1) HYTISR NS I
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(3) YT TA §, A YA || 3 8
(4)  HYT| Y g, Alchd SYA 1| T 8

Options :

92090626997. 1
92090626998. 2
92090626999. 3
92090627000. 4

Question Number : 51 Question Id : 9209066831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the name of the artist who has created his artworks mostly in wood.

(1) 5.L. Prashar (2) Bhiv Singh
(3) Ravinder Reddy {4) Pradosh Das Gupta
Options :

92090627001. 1
92090627002. 2
92090627003. 3
92090627004. 4

Question Number : 51 Question Id : 9209066831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I HADBR B A Fd13U o 3o ST darpiad] &1y § s &

(1) THUA LR 2 fafie
3) AMder TS (4) VS SR
Options :

92090627001. 1
92090627002. 2
92090627003. 3
92090627004. 4

Question Number : 52 Question Id : 9209066832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which place 1s famous for wood earving?

(1) Jamshedpur (2) Saharanpur
(3) Kanpur (4) Jaipur
Options :

92090627005. 1
92090627006. 2
92090627007. 3
92090627008. 4

Question Number : 52 Question Id : 9209066832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BTY I Hal & 0T HH 91 F UfS 87

(1) SHSER (2) HEeRAR
(3) HEAR (4) WOy
Options :

92090627005. 1
92090627006. 2
92090627007. 3
92090627008. 4



Question Number : 53 Question Id : 9209066833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bhainslama, Rajasthan has stone quarry of

(1) Green marble (2} Black marhle
(3) Pink marhle (4) White marble
Options :

92090627009. 1
92090627010. 2
92090627011. 3
92090627012. 4

Question Number : 53 Question Id : 9209066833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N1, TR, by UeR &1 @eH & fow uftg 2

(1) BT (2) I HITHIHR
(3)  Trel THTR (4) g TR
Options :

92090627009. 1
92090627010. 2
92090627011. 3
92090627012. 4

Question Number : 54 Question Id : 9209066834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which stone has porousity in its nature?

(1) Slate (2)  Cornizh granite
(3 Sandstone (4) Karin granite
Options :

92090627013. 1
92090627014. 2
92090627015. 3
92090627016. 4



Question Number : 54 Question Id : 9209066834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ URR &1 Udpfa & IS gl 82

(1) e (2) DI IS
(3) Q3 URR (4) HRA YR
Options :

92090627013. 1
92090627014. 2
92090627015. 3
92090627016. 4

Question Number : 55 Question Id : 9209066835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the metamorphic stone amongst the following :

(1) Slate (2) Cornish granite
(3 Sandstone (4) Slimestone
Options :

92090627017. 1
92090627018. 2
92090627019. 3
92090627020. 4

Question Number : 55 Question Id : 9209066835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad # 9 $EiaRd Ter &1 9149 S|

1) we (2) PIFUIABE
(3) HqSf YRR (4) TATGRR
Options :

92090627017. 1



92090627018. 2
92090627019. 3
92090627020. 4

Question Number : 56 Question Id : 9209066836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Abbrasive stones are used for polishing stone sculptures.

Statement 11 : Carborundum papers are used for polishing stone sculptures and to achieve
final smooth surface.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2} Both Statement I and Statement IT are falze
(3) Statement I 15 true but statement 11 1s false
{4) Statement I 15 false but statement II 15 true

Options :

92090627021. 1
92090627022. 2
92090627023. 3
92090627024. 4

Question Number : 56 Question Id : 9209066836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090627021. 1
92090627022. 2

92090627023. 3
92090627024. 4

Question Number : 57 Question Id : 9209066837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List I1:

List I Last II
(A) Balbir Sing Katt {I'''" Yaksh and Yakshini
(B) Biman Bihari Das (I} Naika
(C)y Constantin Brancusi (IIT) Aswan
(D) Ram Kinker Bajj {IV) The Kiss

Choose the correct answer from the options given below:

1y (A(D), (B)-(I), (C)-(IV), (D)-(II)
2y (A, (B)-(ID), (C)-(IV), (D)-(I)
(3) (A)-(IV), (B)-(11), (C)-(1), (D)-(IIT)
4y (A)-ID, (B)-(D), (C)-(III), (D)-(IV)

Options :
92090627025. 1
92090627026. 2



92090627027. 3
92090627028. 4

Question Number : 57 Question Id : 9209066837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | < T G 1 B e Sifog

- Tt -
A) SdER Rig &g ) g 3R Aeof
@) fauE feedie™ 1y T
(€ wieied sig (i S
(D) M [P aw v) g
i f3u v fasedl | 9 |l IR &1 994 BT
(1) (A)=(1), (B)=(111), (C)-(IV), (D)-(1)
(2) (A)-(1n), (B)-(I1), (C)-(1V), (D)-(1)
(3) (A)-(IV), (B)-(I1), (C)-(1), (D)-(l1)
(4) (A)-=(I1), (B)-(1), (C)-(l1), (D)-(1V)
Options :

92090627025. 1
92090627026. 2
92090627027. 3
92090627028. 4

Question Number : 58 Question Id : 9209066838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of steps followed to create a sculpture to create a sculpture by

stone carving :

(A) Use abrasive stones for finishing the surface.

(B) Clear out the broad area of stone to rough out the basic shape.
(C) Chisel out the details as per the desired form.

(I Level the base side of the stone

(E) use wet-and-dry sandpaper to achieve the finished smooth polished surface.

Choose the correct answer from the options given below :

(1) (D), (B), (C), (A), (E) only (2) (B), (D), (E), (A), (C)
3y (C), (A), (B}, (E), (D) only (4)  (A), (B), (O), (D), (E)
Options :
92090627029. 1
92090627030. 2

92090627031. 3
92090627032. 4

Question Number : 58 Question Id : 9209066838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TER-3eh 101 & Hfd-Rreg 18 & fog Fofafad el o1 98l oH | amsul

A.  Hde & URSHRU & AU sfoee gt &1 wanT|

B. SMYR-3IHid Bl HIE IR W IURA & o0 Uk & 1Uw &7 &1 geH|

C. oly & U P TR Y&H [qarur o1 &1 9 I

D. U YR &F DI HAA DA

E Uftsed, R, e &1 g5 Ude Uitd &4 & ol 78 3R e &1 UanT &A1
13 fau mu faseul # @ WEl IR H1 9U Hifere -

(1) DB CAE

2y BBEAC

(3) CABED

(4 ABCDE
Options :



92090627029. 1
92090627030. 2
92090627031. 3
92090627032. 4

Question Number : 59 Question Id : 9209066839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements @ One 13 labelled as Assertion (A) and the other 15 labelled as
Reason (R) :

Agsertion (A) : Metamorphic rocks are created by metamorphosis of i1gneous or

sedimentary rocks.

Reasons (R) : Metamorphic rocks are created by the effects of pressure, great heat or
chemiecal notion on the basie structure of igneous or sedimentary rocks.

In the hight of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) 18 true but (R) 1s not false

(4) {A) is false but (R) is true

Options :

92090627033. 1
92090627034. 2
92090627035. 3
92090627036. 4

Question Number : 59 Question Id : 9209066839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i &1 YA 3T U § TP SHHFYT (Assertion A) F EY  H fofad 8 @ THRI ITS HRUI
(Reason R}a‘?%—‘q ff;

AHMFYT A - MY 3R 3AUE! Udl & SR I UihdT 9 Faad 9 a-dl 6 |

PHRUIR: 3T 1 fadrel Aal &l Hayd a1 R a6, 3= a9 91 J9i s s
& UTET I SR @erHiithe) 2l & o g gl

JURIE $YF & 3feiier H, A 30 70 fawedl # ¥ ¥ad Iuge IR &1 994 Difore

(1) ASRRIA GE € 3R R A B UL RS &

(2) AR RGH Tl g, Al R, A DI Tl TR ol ¢
3) ATAE AP RIS TR

(4) AUEITRIE, ABTR UL

Options :

92090627033. 1
92090627034. 2
92090627035. 3
92090627036. 4

Question Number : 60 Question Id : 9209066840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one among the following is a Sedimentary Roek?

(1) Slate (2) Limestone
(3 Marble (4 Karin Granite
Options :

92090627037. 1
92090627038. 2
92090627039. 3
92090627040. 4

Question Number : 60 Question Id : 9209066840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad 7 9 $1F uP aae] 9d 82

(1) e (2) TA-URR
(3) IR (4) HRAIARE

Options :

92090627037. 1
92090627038. 2
92090627039. 3
92090627040. 4

Question Number : 61 Question Id : 9209066841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which tools are used in Stone Carving?
(A) Bullnoses
{(B)  Claw chisel
(C) Wedges
(D} Gauge

(E) Tungsten chisel

Choose the correct answer from the options given below :

(1) (A), (B), (D), (E) only (2)  (A), (C), (D), (B) only
(3) (A, (B), (C), (E) only (4) (B), (C), (D), (E) only

Options :

92090627041. 1
92090627042. 2
92090627043. 3
92090627044. 4

Question Number : 61 Question Id : 9209066841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TE-Jh 101 H o SiieRI &1 IudiT 8Iar 82
A, 99l (g A

B. Uul/A@ERd &l

C. WH/IER

D. HYS

E. SRA @A

i fou U faseul # ¥ Wl IR &1 T4 Sl -
(1) dd A, B,D,E

(2) @dd A CD,B

(3) dd A, B,CE

(4) dd B,CD,E

Options :

92090627041. 1
92090627042. 2
92090627043. 3
92090627044. 4

Question Number : 62 Question Id : 9209066842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the generic name for the channel that feeds and vents a mould in any kind of metal

casting?

(1) Rizer (2) Ludo

(3) Core i4) Sprue
Options :

92090627045. 1
92090627046. 2
92090627047. 3
92090627048. 4

Question Number : 62 Question Id : 9209066842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%{%Lﬁmaﬁu@-mﬁﬁmﬁqﬁﬁﬁﬁaaﬂ?ﬁaﬂwwmﬁmm
H18?

(1) TZoR/3MRIgH-HIIH (2) g3
3) SRS (4) BATROR
Options :

92090627045. 1
92090627046. 2
92090627047. 3
92090627048. 4

Question Number : 63 Question Id : 9209066843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is used for achieving green coloured patina on bronze surface?

(1) Ferric Nitrate {2) Cupric Nitrate
(3) Barium Sulphide (4) Potassium Sulphide
Options :

92090627049. 1
92090627050. 2
92090627051. 3
92090627052. 4

Question Number : 63 Question Id : 9209066843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FiY A Tag W e T I B3 U S & feorg Ffaiad 7 9 feges Iudn farar S g2

(1) WR® "8ee (2) HgP gee
(3) dRT9IeEIEe (4) OreREY IapEs
Options :

92090627049. 1
92090627050. 2
92090627051. 3
92090627052. 4



Question Number : 64 Question Id : 9209066844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List T with List IT :

List I Last II
(A) Green ()  Ammonium Sulphide
(B) Brown (I) Ferrie MNitrate
(C)  Antique green (III) Cupric Nitrate
(D) Black (IV) Copper Sulphate 15% and Ammonium

Chloride 85%

Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(I11), (C)-(IV), (D)-(I)
(2) (A)-(IV), (B)-(T), (C)-(I1I), (D)-(1I)
{3) (A)-(T), (B)-(I1I), (C)-(I1IT), (D)-(IV)
(4) (A)-(III), (B)-(II), (C)-(IV), (D)-(I)

Options :

92090627053. 1

92090627054. 2

92090627055. 3
92090627056. 4

Question Number : 64 Question Id : 9209066844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il | & |1y gl 1| BT HaE Hifeg

- Tt -l
(A) B (1)  SHEIHTH SehEs
(B) 3 () R® dEce
(€ YRIH/SUfEEd 8 () YU Agee
(D) Il (V) HR A (15%) 3R
HTTA FTRSS (85%)
+td feu v fawedl & 9 Tel I &1 994 DI
(1) (A=), (B)-(1), (C)-(11), (D)-(11)
(2)  (A)-(1), (B)-(I), (C)-(11), (D)-(11)
(3)  (A)-(1), (B)-(IN), (C)-(I1), (D)-(11)
(4)  (A)-(1), (B)-(I1), (C)-(I1), (D)-(11)
Options :

92090627053. 1
92090627054. 2
92090627055. 3
92090627056. 4

Question Number : 65 Question Id : 9209066845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Muradabad, Uttar Pradesh 1s renowned for -

(1) Stone Carving (2) Glass Industry
(3) Metal Casting (4) Wood Carving
Options :

92090627057 1
92090627058. 2
92090627059. 3
92090627060. 4

Question Number : 65 Question Id : 9209066845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) UER IDIvEA (2) & I
(3) g IebivA (4) DI IJahIvHA
Options :

92090627057. 1
92090627058. 2
92090627059. 3
92090627060. 4

Question Number : 66 Question Id : 9209066846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Investment Mold for Lost Wax metal casting is made from :

(1) Plaster of paris and silica (2) Grog and plaster of paris
(3) Cement and plaster of paris (4) French chalk and plaster of paris
Options :

92090627061. 1
92090627062. 2
92090627063. 3
92090627064. 4

Question Number : 66 Question Id : 9209066846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A T 1 galls & fo1d (a4 |ian fbad a1 oIl 62

(1) TR 3% IR R fifera (2) UHYRIHT 3R @R A6 URY
(3) WiHe 3N WRex 36 U™ (4) TRIER 9T/afSar Y WRe 3% 9iE
Options :

92090627061. 1
92090627062. 2
92090627063. 3
92090627064. 4

Question Number : 67 Question Id : 9209066847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 13 labelled as Assertion (A) and the other 15 labelled as
Reason (R) :

Assertion (A):  While creating a hollow metal sculpture by lost wax process of metal

casting core pins are required.

Reasons (R) : While dewaxing process, core pins keep inner core at its place in

Investment mould.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) {A) 15 false but (R) 15 true
Options :

92090627065. 1
92090627066. 2
92090627067. 3
92090627068. 4

Question Number : 67 Question Id : 9209066847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

91 @ YA 3T MU § UF EYT (Assertion A) F FT  H farfaad & @ g0 ITF SR
(Reason R}aﬁ_m ff;

HUBYA A - U] TaTs B I AF UihaT gR1 ErEd o1g gidRied §91d 990 SR O &1

L&l il &

PRUIR - e &t ufhar & 99y A9y 9 § R U4 el &R & 396

T8 TR &H1U TEdl g

IR HYF & 3aw H, 413U 70 fadel 7 8 Jad Iugad I &1 9949 HifSU

(1)
(2)
(3)
(4)

A 3R R ST HEl § SR R, A DT HE! S §

A 3R R GHI Hel §, Afd R, A DI el A AT ©
AYEIE APIR TG T8I &

A8l el €, AfFT R ST &

Options :



92090627065. 1
92090627066. 2
92090627067. 3
92090627068. 4

Question Number : 68 Question Id : 9209066848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the materials which are used for creating sculptures through lost wax process.
(A)  DBrass

(B) Copper

(C) Gun metal

(D) Aluminum

(E) Bronze

Choose the correct answer from the options given below :

(1) (A), (C), (D), (E) only (2) (A), (B), (C), (D) only
(3 (A), (B), (D), (E) only (4) (A), (E), (D), (B) only
Options :

92090627069. 1
92090627070. 2
92090627071. 3
92090627072. 4

Question Number : 68 Question Id : 9209066848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o O ufhan & Areny ¥ AfdRred Ao & e Iudin & a5 SFdre il S 9419
Hifor|

A, Urdd

B. didl

C. THHcd

D. Scgfnfgn

E. &I

< fg 7T¢ faeseut # 9 wel IR &1 99 Hifoe -
(1) &dd A, B D,E

(2) $dd A, B,C,D

(3) dd A, B,DE

(4) &dd A E D,B

Options :

92090627069. 1
92090627070. 2
92090627071. 3
92090627072. 4

Question Number : 69 Question Id : 9209066849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of loat wax process of metal cating,
(A) Create an investment mold.
(B) Dewax the investment mold through firing.
() Create a wax model through direct or indirect method.
(I Pour he molten metal into the investment mould.

(E) Apply core pins to the wax model and then attach runner and riser to the wax model.

Choose the correct answer from the options given below :

(1)  (B), (C). (D), (E), (A) (2)  (C), (E), (A), (B), (D)
B3 (A, (D), (C), (B), (E) (4) (E) (D), (A). (B). (C)

Options :



92090627073. 1
92090627074. 2
92090627075. 3
92090627076. 4

Question Number : 69 Question Id : 9209066849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIq P TaTs B qd HIH UThaT &1 9l HH g
A.  UF a9 giEr =
B. WsdaH & HiegH ¥ Fdw 9id &1 Ffdiea &
C. Yy ul sy fafd ¥ ue Am Shan/mfasy g
D. 3w 4 ¥ et g3 urg STe
E. #W & ufaeyd # SR O @11 iR R 7 & ufoRed 9§ TR SR ASoR &1 Sigl
9 fau v fawedl § & el IR & T S

(1) B,C,D,EA
() CEABD
3 ADCBE
4 EDABC

Options :

92090627073. 1
92090627074. 2
92090627075. 3
92090627076. 4

Question Number : 70 Question Id : 9209066850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

Lisat [ List I1
(A) Patina (I)  Refractory material
(B) Investment mould (IT)  Air vent
(C) Riser {IIT) Oxidation reaction
(D) Runner (IV) Main channel for molten metal

Choose the correct answer from the options given below:

(1} (A)-(I), (B)-(I1I), (C)-(IV), (D)-(1I)
2y (A)-ID, (B)-(D), (C)-(1LI), (I)-(IV)
(3) (A)-(IV), (B)-(IT), (C)-(11I), (D)-(I)
(4) (A, (B)-1@), (C)-(ID), (D)-(IV)

Options :

92090627077. 1
92090627078. 2
92090627079. 3
92090627080. 4

Question Number : 70 Question Id : 9209066850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | 3 |y g | @ e St

gil-| gdt -
n) B () e anEh
@® FAamrE () argHAfRTE
(€ IR (i SMTeRITRROT 3iffehar
(D) IW (v) ot urg & foe
+ra feu e fasedi © 9 95l IR &1 984 Fifoe:

(1) (A)-(1), (B)-(D), (©)-(1V), (D)-(IN)
(2) (A)-(1), (B)-(1), (C)-(IN), (D)-(IV)
(3) (A)-(IV), (B)-(II), (C)-(1h), (D)-(1)
(4) (A)-(), (B)-(N), (C)-(1), (D)-(1IV)

Options :
92090627077. 1
92090627078. 2



92090627079. 3
92090627080. 4

Question Number : 71 Question Id : 9209066851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In CO: sand casting process which chemical 15 used as a blinder for sand ?

(1) Sodium Carbonate 2) Sodium Chlorde
(3) Sodium Nitrate (4) Sodium Silicate
Options :

92090627081. 1
92090627082. 2
92090627083. 3
92090627084. 4

Question Number : 71 Question Id : 9209066851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTa SIS HIGSS (CO2) TI9, aals Uiehdl | dIq DI wile 1@ & ol e THG ST SUIRT
feaT i 82

(1) OIfsgq FEHe (2) HIfSTH FTERES
3) wHfggH e 4) wifsgn ffade
Options :

92090627081. 1
92090627082. 2
92090627083. 3
92090627084. 4

Question Number : 72 Question Id : 9209066852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 : Through lost wax metal casting, a sculptor can create hollow or solid cast.

Statement 11 : Through direct wax modeling, a sculptor can cast soil as well as hollow

metal sculpture.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement 11 are false
(3) Statement [ 15 true but statement IT 1s false
(4) Statement [ 15 falze but statement IT 15 true

Options :

92090627085. 1

92090627086. 2

92090627087. 3
92090627088. 4

Question Number : 72 Question Id : 9209066852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RAJ YA R E:
®YF | - qd A YT eals & A1 I, U JfabR GRadl d1 319 g a1 &1 9adl g

FYF Il - WY T Wiy ¥, TE JfdeR 3149 & 1Y 1Y Grgal urg Jfdied &1 g o
CRIR G

I HY & Maid | A fGu 0 faweai 4 9 9el Il 994 Sifou

M) HYF IR IS T §

2)  ®YTI 3R I SH A §

(3) Y| A B, Alh HYA 1| 3T &
(4) HYF| A g, Alh Y11 T 8

Options :

92090627085. 1
92090627086. 2
92090627087. 3
92090627088. 4



Question Number : 73 Question Id : 9209066853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of Biseuit (Bisque) firing a stoneware pot.
(A)  Placed the dried pot into the kiln.

(B) Slowly raise the temperature to mature the clay and make 1t hard.
(C) Aar dry the pot.

(D) Let the temperature decrease.

(E) Close and seal the kiln.

Choose the correct answer from the options given below :

(1)  (B) (C). (A), (E), () (2) (E), (C), (A), (B). (D)
(3) (A (C), (E), (D), (B) (4)  (C), (A), (E), (B), (D)

Options :

92090627089. 1
92090627090. 2
92090627091. 3
92090627092. 4

Question Number : 73 Question Id : 9209066853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el TR - IS & fafere (vm) Usaad & Ul & &1 994 $iferg|

A, &b Ui B 2l H @

B. A& uftus & 3R FER §9F & forw fR-4R arowE =1 agran
C. Wiz @l gardgEen

D. dAUHA S FHEA S

E. MZIDIggdal

2 fau v fasedi ¥ 9§ Wl IR &1 T Hifo

(1) B.CAED
(2) ELCABD
3y A CEDB
4 CAEBD
Options :
92090627089. 1
92090627090. 2

92090627091. 3
92090627092. 4

Question Number : 74 Question Id : 9209066854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the temperature range of firing Porcelain?

(1) 1000°C — 1050°C (2y  1080°C —1180°C
(3) 1200°C — 1250°C {4y 1280°C — 1300°C
Options :

92090627093. 1
92090627094. 2
92090627095. 3
92090627096. 4

Question Number : 74 Question Id : 9209066854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



URRYSH & U3wdaH &1 diuaH TR () 31 811 82

(1) 1000 °C — 1050 °C (2) 1080°C-1180°C
(3) 1200 °C — 1250 °C (4) 1280°C-1300°C
Options :

92090627093. 1
92090627094. 2
92090627095. 3
92090627096. 4

Question Number : 75 Question Id : 9209066855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What temperature range is required in Raku Technique?

(1) 500°C — 600°C {2y 600°C - 700°C

(3 750°C — 1000°C (4) 1250°C — 1280°C

Options :

92090627097. 1
92090627098. 2
92090627099. 3
92090627100. 4

Question Number : 75 Question Id : 9209066855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG a1 § by dgar I (<) S Saggdhdl gl 82

(1) 500 °C — 600 °C (2) ©00°C-700°C
(3) 750 °C — 1000 °C (4) 1250°C-1280°C
Options :

92090627097. 1
92090627098. 2
92090627099. 3
92090627100. 4

Question Number : 76 Question Id : 9209066856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 : Glazes are fused on to or into the article by the action of heat.

Statement 11 : Glazes are only used to cover ceramic forms to make them imperishable.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement I and Statement IT are false

(3 Statement [ is true but statement 1T 15 falze

(4) Statement [ 1s false but statement 1T 18 true
Options :

92090627101. 1
92090627102. 2
92090627103. 3
92090627104. 4

Question Number : 76 Question Id : 9209066856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R APy RUME:
DY | - HH D1 o A 3% T 91 9% W IS Did B GHibd F g1 o1 8

HYA Il ?nqq%ﬁﬁfa'a?rcnxdh1f%ﬁfiﬁﬁ'aﬂqﬂﬁnﬁ &I ARV THY Had [EPHrg 11 & ferw
gl

I HYA & 3fdld |, g fGu 0 fadedi # 9 Hel Iaid] 994 $ifei

()  HYF MR NTATITE
@) PSYTISRNTA NI
3) BYT 19 g, e BYT 1 3T §
(4) HYTI T G, AhT FUT I T8
Options :
92090627101. 1
92090627102. 2

92090627103. 3
92090627104. 4



Question Number : 77 Question Id : 9209066857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the artists who are recognized for their artworks in ceramics :
(A) G. Raghu
(B) V. Nagdas
() P R. Daroz
(D} Vipul Kumar

(E) Ira Chaudhry

Choose the correct answer from the options given below :

(1) (A), (C), (D), (E) only (2) (B), (C), (E), (A) only
(3 (D}, (B), (E), (C) only (4) (A), (B), (C), (D) only

Options :

92090627105. 1
92090627106. 2
92090627107. 3
92090627108. 4

Question Number : 77 Question Id : 9209066857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@?ﬁﬂﬁﬁﬁﬁﬁwmma‘fﬁ@mﬁﬁaﬁmﬁﬁﬂmﬁm
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A, Gy

B. dlATCH

C. YR IR

D. faga FAR

E S EER

i fau e fawedl # 9 Wl IR &1 984 S
(1) &dd A CD,E

(2) $dd B CEA

(3) dd D,B,EC

(4) dd A B, CD

Options :

92090627105. 1
92090627106. 2
92090627107. 3
92090627108. 4

Question Number : 78 Question Id : 9209066858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

Liat T Last 11
(A) Raku (I} Glazing done with fermented mixture
(B) Burnishing (I} Glazing done by using lovwr
temperature glaze and saw dust
(Cy Obvava (III} Glassy materials used to cover ceramic
forms
Dy Glazes (IV) Rubbing surface of leather hard eclay

until it becomes smooth and shiny.

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(D), (C)-(11D), (D)-(1I)
(2) (A)-(I1I), (B)-(1T), (C)-(IV}), (D)-(D)
(3) (A)-(1), (B)-(I11), (C)-(IV), (D)-(1IL)
(4) (A)-(IT), (B)-(IV), (C)-(I), (D)-(11L)

Options :

92090627109. 1
92090627110. 2
92090627111. 3
92090627112. 4

Question Number : 78 Question Id : 9209066858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | % Y gt 1 @ e St

- gt -1l
A TR ) foivaa (wH=e) Ay @ 90 9gm
®) IHGFEVEERT oy " I9EE 99 $i9 R dhel R[S H
JULN § gHS GGl
(€) Sfiadmr iy THET & rpfadl WR sravo 9gH & forw
®id &1 Ul &1 T
(D) THD/AAA (Iv) IHS Pl Udg &I HAR W2l ad a& g

Wd da o ag el 3 gH&eR 9 81 9
i fou e fasredi | 9 8l I &1 999 S

(1) (A)-(IV), (B)-(1), (C)-(ln), (D)-(1)
(2) (A)-(ll), (B)-(n, (C)-(1V), (D)-(1)
(3) (A)-(1), (B)-(111), (C)-(1V), (D)-(1)
(4) (A)-(11), (B)-(IV), (C)-(1), (D)-(li)

Options :

92090627109. 1
92090627110. 2
92090627111. 3
92090627112. 4

Question Number : 79 Question Id : 9209066859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One 18 labelled as Assertion (A) and the other 1s labelled as
Reaszon (R) :

Agsertion (A) : During reduction firing, the output of glazing comes out to be earthy, due to
the lack of oxygen inside the kiln.

Reasons (R) : In the absence of sufficient amount of oxygen inside the kiln, the oxygen
molecules difussed in the glazes are used up, henceforth, the resulting
glazes are due in earthy.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
() (A) 12 true but (R) is false

(4) (A) 15 false but (R) 1s true

Options :

92090627113. 1
92090627114. 2
92090627115. 3
92090627116. 4

Question Number : 79 Question Id : 9209066859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 31 HuA 2T MU § U SHHDBUA (Assertion A) B FU  H foif@d & O gERT 3D HRU
(Reason R}a?F‘-T ff;
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e Wl 81
HRUIR wel # oo &t i JE o q, 99F/Hd H FHIRd
TR & U] IUGRT 1R TeH 81 9lld ¢ | URUMHRGEY 9H& Hifde 3R
Heldl g 9Kl 8l

IR HY & 3fdid |, 1 f3u 70 fabedl § 9 96y Iugad IR &1 994 Sifeu

(1) ASRRGHA TEl g R R A DI ol AR §

20 ASRRIAIGEE AfFAR AP IS ARG AT @
(3) ATGE ABTRTL AL

(4) ARG APTRUEE

Options :
92090627113. 1



92090627114. 2
92090627115. 3
92090627116. 4

Question Number : 80 Question Id : 9209066860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following are associated with ceramics 7

(1) Gel coat and joints (2) Electroplating and coating

(3 Obvara and Raku (4) Patination and Enameling

Options :

92090627117. 1
92090627118. 2
92090627119. 3
92090627120. 4

Question Number : 80 Question Id : 9209066860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa # 8 o1 Rfaed g 3 wes B

(1) Sd-ay iR /e (2) fagga-auA ofR @y
(3)  Sfigamr 3R IH (4) TTs/SH THAT 3R HATBRY/HTEHTE

Options :

92090627117. 1
92090627118. 2
92090627119. 3
92090627120. 4

Question Number : 81 Question Id : 9209066861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of rubbing the surface of leather-hard clay until it becomes shiny and smooth to

touch 1=

(1) Sanding (2) Burnishing
(3 Peeling (4) Glazing



Options :

92090627121. 1
92090627122. 2
92090627123. 3
92090627124. 4

Question Number : 81 Question Id : 9209066861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS B Hag ®I HBR Hel ad ad Uu4 Hi Ulehdl, 9d a & ag Iudial IR &P 9 8
WG, %] 1 $8d 87

(1) 37 Qi) (2) SR @S Tdg F99)
(3) U (3FTgad) (4) TS (@ifed s

Options :

92090627121. 1
92090627122. 2
92090627123. 3
92090627124. 4

Question Number : 82 Question Id : 9209066862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 : An electric current passing through a consumable electrode touches the
parent metal to melt and join is called TIG welding.

Statement 11 : An electric current passing through a consumable electrode touches the
parent metal to melt and join is called Arc welding,

In the hight of the above Statements, choose the correct answer from the options given below :

(1) Both Statement 1 and Statement 11 are true
(2) Both Statement I and Statement IT are false
(3} Statement I 15 true but statement IT 13 false

(4) Statement I is false but statement II is true

Options :

92090627125. 1
92090627126. 2
92090627127. 3



92090627128. 4

Question Number : 82 Question Id : 9209066862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RAFERTMTE:

HY | : B IUH daers J oRd! fagyd
fore et 8, @ 3@ ferr (@ smgsi) ¢

YT || . o9 fHUl IJuH FArs ¥ okl |
Wie4 & fora foraardt 8 df 39 s afe

IR HYA & Hdld H, A feu e fasadi A

(1) HYIARNSAI g8

(2) @Y1 AR I SHI T §

(3) YT HAE, Al HYT 1 I T
(4) HUYTI AT g, AT BUT 1 TA B

Options :

92090627125. 1
92090627126. 2
92090627127. 3
92090627128. 4

Question Number : 83 Question Id : 9209066863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which gas is used in TIG welding?

(1) Oxygen (2)  Argon
(3) Blutane (4) Propane
Options :

92090627129. 1
92090627130. 2
92090627131. 3
92090627132. 4

Question Number : 83 Question Id : 9209066863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

& sz o, Al # v 9 &1 yd grar 22

(1) e (2) 3
(3) oA (4) U
Options :

92090627129. 1
92090627130. 2
92090627131. 3
92090627132. 4

Question Number : 84 Question Id : 9209066864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the full form of MIG welding?

(1) Metal-Infused-Gas (2)  Minimal-Infused-Gas
(] Minimal-Inert-Gas (4) Metal-Inert-Gas
Options :

92090627133. 1
92090627134. 2
92090627135. 3
92090627136. 4

Question Number : 84 Question Id : 9209066864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH.3M13. 51 AfesT &1 Q1 1 &1 87

(1) Aed -3 - T (2 ffme - s -
3 fRmE-s-19 (4) Wea-3I¢ -
Options :

92090627133. 1
92090627134. 2
92090627135. 3
92090627136. 4



Question Number : 85 Question Id : 9209066865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of executing Arc Welding :
(A) Set up the Arc Welding machine attach the earth wire to the piece to be welded.
(B) Remove the rust from the surface which needs to be welded.
(C) Grind out the excessive metal for finished surface.
() Use the electrode to weld.

(E) Remove the deposited flux.

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E) (2) (B), (A), (D), (E), (C)
(3) (C), (E), (D), (B), (A) (4) (D), (E), (A), (B), ()

Options :

92090627137. 1
92090627138. 2
92090627139. 3
92090627140. 4

Question Number : 85 Question Id : 9209066865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3{Tdh afeET B TG Il B Wel HH U]

A. iggﬁnmhﬁﬁwwﬁ%@mwma@wnﬁawﬁﬁmﬁhﬁmﬁmﬂ
=1

B. dtS $! M dlcll ¥de A W7 geHl

C. URSHd Hdg UId &3 & fofU fafver U1 & o &2 ger
D. dfeET & & ot Soiacis &1 UG HAl

E.  [a&ifta uE & gern

=i fou e fasedl # 9 Tl IR &1 99 Hifelu -

(1) ABCD,E
20 B,ADEC
3) CED,BA
4 D,EABC

Options :

92090627137. 1
92090627138. 2
92090627139. 3
92090627140. 4

Question Number : 86 Question Id : 9209066866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following can be used as an alternative gas for acetylene in oxy-acetylene
welding ?

(1) Nitrogen (2} Lithium
(3 Liguid Petroleum Gas (4) Carbon Mono-Oxide
Options :

92090627141. 1
92090627142. 2
92090627143. 3
92090627144. 4

Question Number : 86 Question Id : 9209066866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&mﬁ-q%ﬁﬁq&%ﬂﬁmﬁﬁﬁﬁH%wﬁmﬁﬁmmw
o Tl 87

(1)  IEgIeH 2) feafaw
(3) oxa Ueifaan g (4) B A RS

Options :

92090627141. 1
92090627142. 2
92090627143. 3
92090627144. 4

Question Number : 87 Question Id : 9209066867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as
Reason (R) :

Assertion (4) : It 18 difficult to create a sculpture by welding aluminium and bronze
together.
Reasons (R) - Aluminium and Bronze cannot be welded together due to high variation in

their melting points.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) 15 true but (R) is false

(4) (A) 18 falze but (R) 18 true

Options :

92090627145. 1
92090627146. 2
92090627147. 3
92090627148. 4

Question Number : 87 Question Id : 9209066867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HRUIR: HAFTH 3R 1Y & Mo fagafl # sraftid SR & PRU 3D Uh 91y
dfeg™ =18l &1 & gebdl|

SWRIF $YA & 3l H, A 3 U fawedl & ¥ ad Iuge IR &1 994 Siforg
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Options :

92090627145. 1
92090627146. 2
92090627147. 3
92090627148. 4

Question Number : 88 Question Id : 9209066868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is known for creating sculpture using metal fabrication techmque ?

(1) Himmat Shah {2) Bharti Kher
{3 Manjunath Kamath (4) Balan Namhar
Options :

92090627149. 1
92090627150. 2
92090627151. 3
92090627152. 4

Question Number : 88 Question Id : 9209066868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UTd-TaTad (Aea-BigdyH) dd-ie &1 IUd axd Hfdired T4 & fou o fafea 4 9
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(1) fewdwmg (2) MR B
(3)  HSHAY HHY (4) EE- AEIR

Options :

92090627149. 1
92090627150. 2
92090627151. 3
92090627152. 4

Question Number : 89 Question Id : 9209066869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 ; The process of heating metal to dull red colour and then allow the piece to
cool immediately 1s ealled Annealing.

Statement 11 : The process of heating metal to dull red and then allowing the piece to cool
slowly 1s called Annealing.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 1T are false
(3 Statement [ is true but statement 11 15 false

(4) Statement [ 15 false but statement 11 1s true

Options :

92090627153. 1
92090627154. 2
92090627155. 3
92090627156. 4

Question Number : 89 Question Id : 9209066869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RgFyafdumUe:

HYF | - U] DI YHS 1 T dP TH FA AR R dTbTa U & 39 Cha B 681 HA Bl
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Options :

92090627153. 1
92090627154. 2
92090627155. 3
92090627156. 4

Question Number : 90 Question Id : 9209066870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the main material used in Repousse technique ?

(1) Metal wire (2) Metal ingots
(3) Metal sheet (4)  Molten metal
Options :

92090627157. 1
92090627158. 2
92090627159. 3
92090627160. 4

Question Number : 90 Question Id : 9209066870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RaT3 (qeiieyya/a1d &1 HM) dh-iie | f6g I Gl &1 398 gidl 82

(1) UIgPIdR 2) urg @ Rfcear
3) g B Fre/afe/amR (4) forerel u1g



Options :

92090627157. 1
92090627158. 2
92090627159. 3
92090627160. 4

Question Number : 91 Question Id : 9209066871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following tools is used in Repousse technique?

(1) Ripsaw (2) Hammer
(3 Gauge {4y Wire tool
Options :

92090627161. 1
92090627162. 2
92090627163. 3
92090627164. 4

Question Number : 91 Question Id : 9209066871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sy awdie | Ffalaa § 9§ f6 SR &1 SUghT 811 87

(1) 3ST AR (o) (2) B
(3)  UHI (7ie) (4) TR & 3SR
Options :

92090627161. 1
92090627162. 2
92090627163. 3
92090627164. 4

Question Number : 92 Question Id : 9209066872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following sculpture created by Gianlorenze Bernim 1s known for the use of
bronze, marble and other materials?

(1) David (2) FEcstasy of 5t. Theresa
(3) Rape of Proserpina (4)  Apollo and Daphne
Options :

92090627165. 1
92090627166. 2
92090627167. 3
92090627168. 4

Question Number : 92 Question Id : 9209066872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁuﬂﬁmmﬁﬁw%ﬁmﬁmﬁﬁ@aqﬁiﬁwrﬁ%aﬁ#m,wm 3 graREl
& IUgNT & fore fawenrd g2

(1) 3[8 (2) UGHH! 3% He vdl
(3) YU 3B YrERUEr (4) Ul T8 %A
Options :

92090627165. 1
92090627166. 2
92090627167. 3
92090627168. 4

Question Number : 93 Question Id : 9209066873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement 1 : When a sculptute is created by uniting more than one medium, it is called
Mixed Media Sculpture.

Statement 1T : When a sculpute is created by repeatedly using a single unit, then it is
called Mixed Media Sculpture.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false
(3 Statement [ 15 true but statement 1T 15 false

(4) Statement [ is false but statement I is true

Options :

92090627169. 1
92090627170. 2
92090627171. 3
92090627172. 4

Question Number : 93 Question Id : 9209066873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090627169. 1
92090627170. 2
92090627171. 3
92090627172. 4



Question Number : 94 Question Id : 9209066874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the surrealistic artist who has created the Lobster Telephone?

(1) Marcel Duchamp (2) Salvador Dah
(3 Pahlo Picasso (4) Robert Smithson
Options :

92090627173. 1
92090627174. 2
92090627175. 3
92090627176. 4

Question Number : 94 Question Id : 9209066874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 YA HAHR H1 G119 DI o Tk S’ B = B |

(1) #Ad 39w (2) UcdleR STeit
(3)  ursal U (4) TG AT
Options :

92090627173. 1
92090627174. 2
92090627175. 3
92090627176. 4

Question Number : 95 Question Id : 9209066875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 : If a seulpture is also working as a fountain, then that can be categorized as

a Functional sculpture.

Statement 11 : Sculptures assembled with only ready made items are also known as

Funectional sculpture

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(4)

Both Statement I and Statement 11 are true
Both Statement I and Statement I1 are false
Statement [ 15 true but statement 1T 15 false

Statement [ 1s false but statement I1 18 true

Options :

92090627177. 1
92090627178. 2
92090627179. 3
92090627180. 4

Question Number : 95 Question Id : 9209066875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e dya R U §:
HYA| : A P &R & 0§ S &R 81 81 a1 3W IS SiEd qidiied &

U H foar o1 ged1 g1

HYF 1| . Had Ugd 9 IR I3 B SIS &L U iRy &1 SRfdd qfiRied & 91

g i FFT o g1

JUad HYA & s H, i feu v fasedi d 9 Hel 3o 994 $ifeiu

(1
(2)
(3)
(4)

HYT 1R NS gd 8

HYA | 3R 11 T 3T §

HY | I &, A5 Y 1| 3T B
HYF | 3T 8, AP HYF 1| T 8

Options :

92090627177. 1
92090627178. 2
92090627179. 3



92090627180. 4

Question Number : 96 Question Id : 9209066876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kinetic sculpture titled ‘Bieyele Wheel has been created by

(1) George Rickey (2) Marcel Duchamp
(3) Nuam Gabo (4) Alexander Calder
Options :

92090627181. 1
92090627182. 2
92090627183. 3
92090627184. 4

Question Number : 96 Question Id : 9209066876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

arsRidagia @msfed &1 ufgan A nfaws gidiRea o1 goq g grT e -

(1) o Rt (2) ARd I
(3) A IS (4) Tddda HIesT
Options :

92090627181. 1
92090627182. 2
92090627183. 3
92090627184. 4

Question Number : 97 Question Id : 9209066877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sculptor Alexander Calder has created the sculture titled

(1) Mobile (2) Standing Wave
)] Light Space Modulator (4) Fountain
Options :

92090627185. 1
92090627186. 2



92090627187. 3
92090627188. 4

Question Number : 97 Question Id : 9209066877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HideR Tdders Hiee? - FufiiEd 3l a gfdReu &1 e g

(1) HAEEd (2) Wienda
(3) TS WY AISYeie (4) W3
Options :

92090627185. 1
92090627186. 2
92090627187. 3
92090627188. 4

Question Number : 98 Question Id : 9209066878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following bears influence of Indian Classical Sculpture in his art works ?

(1) Sudharshan Shetty (2) Thakural and Tagra
(3 L.N. Tallur (4) Subodh Karekar
Options :

92090627189. 1
92090627190. 2
92090627191. 3
92090627192. 4

Question Number : 98 Question Id : 9209066878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiad & 4 69 gfder &1 dapiadl #§ WRdE ARG JfiiRied &1 uHd dadr 82

(1) g et (2) BPE R TR
(3) TUAEA TR (4) YhY BB
Options :

92090627189. 1



92090627190. 2
92090627191. 3
92090627192. 4

Question Number : 99 Question Id : 9209066879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has created the sculpture titled ‘For the love of God™?

(1) L.N. Tallur (2) Damien thirst
(3) Subodh Gupta (4) Sudarshan Shetty
Options :

92090627193. 1
92090627194. 2
92090627195. 3
92090627196. 4

Question Number : 99 Question Id : 9209066879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“ThR g d TE Tg" S Hfdifred fbe §9m/1 82

(1) TATA TER 2) SPmAew
(3) &Y Il (4) YeH oL
Options :

92090627193. 1
92090627194. 2
92090627195. 3
92090627196. 4

Question Number : 100 Question Id : 9209066880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following are New Media Artists?
(A)  Anish Kapoor

(B) Subodh Gupta

(C) K.8. Radhakrishnan

(18] Jeff Koons

(E) Sudarshan Shetty

Choose the correct answer from the options given below :

(1) (A). (B). (D), (E) only (2) (A), (0), (D), (E) only
(3 (A), (C), (D), (E) only (4) (A), (B), (0), (D) only
Options :

92090627197. 1
92090627198. 2
92090627199. 3
92090627200. 4

Question Number : 100 Question Id : 9209066880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiiad & 4 o1 9di AramHHitss saaR 82
A T IR

B.  YelyIw

C. &Y. AUPUH

D. ©h$HH

E geuH 9Et
+ta fau e fasedi # | el SR &1 994 Hifore :

(1) &dd A, B,D,E
(2) dd A, CEB
(3) &dd A C,D,E

(4) Hdd A B,C,D

Options :
92090627197. 1
92090627198. 2



92090627199. 3
92090627200. 4



